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Part A

Section Id : 920906285
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906464
Question Shuffling Allowed : No

Is Section Default? : null



Question Id : 92090614377 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

1 few 71U g=riw 1 e O uga g Ui & ST al -

U g1 ORT H9A1 G 81 & &,

TR DI A1 B GR1 YT TH &,
qH &1 S &1 | a- 4R I €2
Y B Ul & 90N W &R & a,
P! iTad # gRRAR W A g,
fire= 31 3ifEl & ot @ Sffemy,
Uy TR QRI-URT UhT< 81 - &l

g BUSI-3US! Id FIGI-HT 3TeH,
¥ Hig-vA-, T 5 oI draH |

Sub questions
Question Number : 1 Question Id : 92090614378 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JURTeR Ul # U0 1 14 994 Hiferg|

(1)  WHT (2) Pd
(3) BIHIR (4) B
Options :

92090656801. 1
92090656802. 2
92090656803. 3
92090656804. 4

Question Number : 2 Question Id : 92090614379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR Weg H1 fAd™ o1 g2

(1) USRI (2) SfoErI
(3)  3ulldl (4)
Options :

92090656805. 1
92090656806. 2
92090656807. 3
92090656808. 4

Question Number : 3 Question Id : 92090614380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3US-3US H $1-91 Ysg ¥U 872

(1)  SFBUTEAD e (2) TUHFTHS Ueg
(3) A% e (4) Tad Weg
Options :

92090656809. 1
92090656810. 2
92090656811. 3
92090656812. 4

Question Number : 4 Question Id : 92090614381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A-HY Yeq, H HH-H1 THY TG g3l 67

(1) 3fegdiyE (2) HHYRY
3) fa1 @) dgsy
Options :

92090656813. 1
92090656814. 2
92090656815. 3
92090656816. 4

Question Number : 5 Question Id : 92090614382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

TRT Ueg H ' & Ard @t fa<] &1 FT Hgd o7

1 &= 2 fog
(3) o (4) Ble
Options :

92090656817. 1
92090656818. 2
92090656819. 3
92090656820. 4

Question Id : 92090614377 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

2 few 71U y=riw &1 e O U g Ui & STl -

U &1 oRT 91 QR1 &1 o &,

TR B B BT GR1 YT TH 3,
qH &1 ST &1 i d-4R 3T €2
3 B U9 & WM W R A g,
! sifad 7 gRR R T 2,
fire= 31 3ifEl & ot &1 Sy,
Uy TR QR1-UR1 UhT< g1 - &l

g BUSI-3US! Id FHIGI-HT 3TeH,
H Aig-v-t, I =g s araH |

Sub questions
Question Number : 1 Question Id : 92090614378 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR Ui H YT 1 A1 994 Sifeid|

(1)  UHK ) Pd
(3) BIWIR (4) UHI
Options :

92090656801. 1



92090656802. 2
92090656803. 3
92090656804. 4

Question Number : 2 Question Id : 92090614379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"3RI s T fAEH o1 g1m?

(1) UPR (2) IR

(3)  3ulldl (4)
Options :

92090656805. 1
92090656806. 2
92090656807. 3
92090656808. 4

Question Number : 3 Question Id : 92090614380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3US-3US H $1-91 Ysg ¥U 872

(1)  SFBUTEAD e (2) TUHFTHS Ueg
(3) A% e (4) Tad Weg
Options :

92090656809. 1
92090656810. 2
92090656811. 3
92090656812. 4

Question Number : 4 Question Id : 92090614381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
-1 Ueg H HH-H1 THH W g3l 82
(1) 3fAdIYE (2) PHYRY
3) fa (@) dgeEy

Options :



92090656813. 1
92090656814. 2
92090656815. 3
92090656816. 4

Question Number : 5 Question Id : 92090614382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRT Ueg H ' & Ard @t fa<] &1 FT Hgd o7

1y &= 2 fog

3) e (4) Slc
Options :

92090656817. 1
92090656818. 2
92090656819. 3
92090656820. 4

Sub-Section Number : 2
Sub-Section Id : 920906465
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090614383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TUrdTae fA2I901 &1 §eld el IHu?

(1) faceh axgeli &1 afgsdRr & (2) d TR el Sdir?
(3) Urgl THSHE Al (4) DO THHMA T M3
Options :

92090656821. 1
92090656822. 2
92090656823. 3
92090656824. 4

Question Number : 6 Question Id : 92090614383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U faLN0 1 §eld I8l iHu?

(1) e axgsi &1 sfewpR #3| (2) 3 TN Pl e
(3) UTSIAABH A @l (4) DS AHGE o 33|
Options :

92090656821. 1
92090656822. 2
92090656823. 3
92090656824. 4

Question Number : 7 Question Id : 92090614384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I= fAdHl ¥ 99 @ § | 91 § Xgifed Us f6Y9 T3 & 9 &1 Sd s W@ &2

(1) SfdqaE® 2) e
(3) HEErES 4) ufHUEES
Options :

92090656825. 1
92090656826. 2
92090656827. 3
92090656828. 4

Question Number : 7 Question Id : 92090614384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I= fOdHl ¥ 9d @ § | 91 § YWifed Uss [ T3 & Je &1 3 W@ 87

(1) fdddra® 2) wfaarEs
(3) HEHEES (4) URHUEES
Options :

92090656825. 1
92090656826. 2
92090656827. 3
92090656828. 4

Question Number : 8 Question Id : 92090614385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

gl | & 91y gt 1 w1 faE Fifoe

| g -
(A) AR () TIeY TAN
(B) XMYA (y fegans
(C) UldnaR (ny  3fediyE HY
(D) TaUE (Iv) gdife Tad

412 feu e f9sedi # 9 9l IR &1 994 I

(M (A)-(), (B)-(IV), (O-(1), (D)-(l)
(2 (A=), B)-(1), (Q-(Iv), (D)-()
(3) (A=), (B)-(1V), (O)-(1), (D)-(1)
4 (A)-(V), (B)-(11), (O-(1), (D)-(ln)

Options :

92090656829. 1
92090656830. 2
92090656831. 3
92090656832. 4

Question Number : 8 Question Id : 92090614385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il | & 1y gt 1| &1 fieE Sifore

- -l
(A) AR () dgeY THY
(8) IGYA (ay feganAs
(C) UldnaR (I 3ty 9
(D) U8 (Iv) dgdife Iar
19 fau T fasedi d 8 9El IR &1 99 SifoT:
(1) (A)-(I1), (B)-(IV), (C)-(1), (D)-(111)

(3) (A, (B)-(IV), (©)-(D), (D)-()

)-(
(@) (A1), B)-(), (C)-(IV), (D)-()
)-(
4 (A)-(v), (B)-(I), (C)-(), (D)-(1)



Options :

92090656829. 1
92090656830. 2
92090656831. 3
92090656832. 4

Question Number : 9 Question Id : 92090614386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt | & 91y gt 1 1 faaE Sifse

Tl-| NEIEl

(A) 3MTeH (1) TGN JH
(B) cxHfad (1)  SEIHE JHY
© JYEg™ () Sgdile T
(D) <A (Iv) &g 9H™
19 fau U faseul # 9 gl IR 19U SIS
(1) (A)-(1), (B)-(I), (C)-(1V), (D)-(l11)
2 (A)-, EB} (1), (©)-(1V), (D)-(I)
(3) (A=), (B)-(), (O)-(IV), (D)-(1)
(@) (M-I, (B)-(1V), (O)-(1), (D)-(111)

Options :

92090656833. 1
92090656834. 2
92090656835. 3
92090656836. 4

Question Number : 9 Question Id : 92090614386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T | & a1y g 11 B fAeE S

- EEIST
(a) 34 (1) Ty gAY
(8) SHfE (1)  SfEdTHId JHE
(€ g@gw () dgdife gaTH
(D) S=MHA (V) &g 9H™
4 feu v flaseul © ¥ 98l 3O &1 994 S
(1) (A)-(1), (B)-(IN), (C)-(IV), (D)-(1NN)

(3) (A=), (B)-(n), (Q-(V), (D)-()

)-(
(2) (A=), (B)-(1). (O)-(IV), (D)-(ID)
)-(
@) (A, (B)-(IV), (Q-(), (D)-(I)

Options :

92090656833. 1
92090656834. 2
92090656835. 3
92090656836. 4

Question Number : 10 Question Id : 92090614387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 UTY 9§ S 9Tdd s BRI -
A, TfcHHE

B. U
C. ffeH
D. fourfa

e fea

12 fau e fasedl # 9 el 3T’ &1 994 SIfo
(1) dd A B

(2) &dd B, C

(3) dd B, D

(4) Hdd E

Options :
92090656837. 1



92090656838. 2
92090656839. 3
92090656840. 4

Question Number : 10 Question Id : 92090614387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3q UTY 9§ S 91d Ue BRI -
A, TIfaHH

B. S
C. ffeH
D. fuurfa

e fed
412 feu 1 fasedi @ | Jel IR &1 994 DI ;

(1) &dd A B
(2) Pdd B, C
(3) &dd B, D
(4) Hdd E

Options :

92090656837. 1
92090656838. 2
92090656839. 3
92090656840. 4

Question Number : 11 Question Id : 92090614388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe m=2, n=3AW12m*-3mn FTHAE:

(1 92 (2) 88
(3) 94 (4) 90
Options :

92090656841. 1
92090656842. 2
92090656843. 3



92090656844. 4

Question Number : 11 Question Id : 92090614388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe m=2, n=3d 12m*n-3mn* BIHAE

(1) 92 (2) 88
(3) 94 (4) 90
Options :

92090656841. 1
92090656842. 2
92090656843. 3
92090656844. 4

Question Number : 12 Question Id : 92090614389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁm#wmmm]ﬁwg W W @ bR IET sifd geg & 20% e
3R IY U sifdrd geu W &9 | = &1 @y ufawrd &1 82

(1) 25% (2) 50%
(3) 40% (4) 60%
Options :

92090656845. 1
92090656846. 2
92090656847. 3
92090656848. 4

Question Number : 12 Question Id : 92090614389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ﬁmﬁwmmma@wg W R el R I oifd e #Y 20% o1 R
3fR 3 U sifdhd Hed U &9 fen| fean &1 @ ufa=rd @1 g2

(1) 25% (2) 50%
(3) 40% (4) 60%
Options :

92090656845. 1
92090656846. 2
92090656847. 3
92090656848. 4

Question Number : 13 Question Id : 92090614390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sl Uy A OYT B UH el &l HH: 15 e aul 20 fiFe # WR 9l g1 SF1 usyl &1 U
T Wl T U] 4 ATe 91 Ugy A & §w &R f&a1 Tl &t &1 WRA # od a1 7y
e

(1) 14 fiAe 40 9ds 2) 12 f#e 30 Bbs
(3) 11 TPHe 45 §hE (4) 10 f8He 20 OFe
Options :

92090656849. 1
92090656850. 2
92090656851. 3
92090656852. 4

Question Number : 13 Question Id : 92090614390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sl USY A dYT B U el &l HHI: 15 e aur 20 fiFe # WR 9l §1 aF1 uisyl &1 U
1Y Gl 71 W= 4 e 91 U5y A &1 d=< & {331 a1 78t 1 WA | $d faa1 971y
e

(1) 14T 40 9F3 2) 12 e 30 O3
3) 11 THAe 45 s (4) 10 f0FE 20 THs
Options :

92090656849. 1
92090656850. 2



92090656851. 3
92090656852. 4

Question Number : 14 Question Id : 92090614391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT & oiF 319 A1 foFB] YU HHDL: 3 cm, 4 cm TUT 5 cm &, &1 [Ugdl & TP gl 94
11 71| AU §U UHT & gET &thd &1 417 aUT - O & I & d | 941 34T 87

(n 2:1 @ 32
(3) 25:18 (4) 27:20
Options :

92090656853. 1
92090656854. 2
92090656855. 3
92090656856. 4

Question Number : 14 Question Id : 92090614391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T & I 3 g oS! YO HH: 3 cm, 4 cm YT 5 cm §, &1 A R TH F21 T4
191 71| 3T gU U & gy &Fd &1 417 9T AT 99 & gEIg &% J 1 SN 82

(1) 2:1 (2 3:2
(3) 25:18 4) 27:20
Options :

92090656853. 1
92090656854. 2
92090656855. 3
92090656856. 4

Question Number : 15 Question Id : 92090614392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oid A % 65,000 BI AR BT 31 a1l & Faw far aur 2 a4 ugiq 7,275 & &6 J Uw

{3 | T H AURY TS 6% dIfte 9 &0 & aul JioHT 1| § dshdia ol 5% dift® od g
OIS | a1 dieT 11 H FafRa aRE! &1 sHuTd 91 S|

(1) 1:1 2) T1:b
(A) &:4 (4) 3:4
Options :

92090656857. 1
92090656858. 2
92090656859. 3
92090656860. 4

Question Number : 15 Question Id : 92090614392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oid A % 65,000 B AR 1 31 o1l & [ far aur 2 a9 uyiq 7,275 & 9 § Uw

fa | TS o WIURY TS 6% dlitd GR &0 § auT TorT 1| § dshdia &I 5% diftie < ¢
I | YT grer 1| H FafRa iR &1 sruTd F1d S|

(M ; il (2} TL6
(3) 5:4 4 3:4
Options :

92090656857. 1
92090656858. 2
92090656859. 3
92090656860. 4

Question Number : 16 Question Id : 92090614393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&I 9l fdeed o, R Ra x &1 gl axar g :

(1) (2)

N

(3) (4)

Options :

92090656861. 1
92090656862. 2
92090656863. 3
92090656864. 4

Question Number : 16 Question Id : 92090614393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
& 9 faeed g, RIMA A x S i Har g -

(1) (2)

(3) (4)

/




Options :

92090656861. 1
92090656862. 2
92090656863. 3
92090656864. 4

Question Number : 17 Question Id : 92090614394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ofd U 1 U T $I 125 BIe GAEY 941 § fayiiora o oiran € 1 fba- 81 94 faar i
g

(1) 27 (2) o4
(3) 8 (4) 16
Options :

92090656865. 1
92090656866. 2
92090656867. 3
92090656868. 4

Question Number : 17 Question Id : 92090614394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ofd U 1 U T $I 125 BIe GAEY 941 § fayiiora o oiran € 1 fba- 81 94 faar i
g

5 5 N § (2) o4
3) 8 (4) 16
Options :

92090656865. 1
92090656866. 2
92090656867. 3
92090656868. 4

Question Number : 18 Question Id : 92090614395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&1 7S 4T 12, 30, 120, 460, 1368, 2730 F XY HHT 16, (A), (B), (C), (D), (E) TafHd B
dd 91d BIfot fob D & WA W S ufawifig grm?

(1) 1384 (2) 2642
(3) 2808 (4) 1988
Options :

92090656869. 1
92090656870. 2
92090656871. 3
92090656872. 4

Question Number : 18 Question Id : 92090614395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&1 715 @ 12, 30, 120, 460, 1368, 2730 P SEY 4Gl 16, (A), (B), (C), (D), (F) ARG B
4 Id Bifelt f D & RIF W H14 Hiawifia grm?

(1) 1384 (2) 2642
(3) 2808 (4) 1988
Options :

92090656869. 1
92090656870. 2
92090656871. 3
92090656872. 4

Question Number : 19 Question Id : 92090614396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 feg U wsdt & e g & o o ey B, 7€ gHE Tey g o g | & g
o= Mg : Mifd Areg

(1) IYEdr: Ared (2) Hdg®d : 99
3) g . aes 4) e Tmemen
Options :

92090656873. 1
92090656874. 2
92090656875. 3
92090656876. 4



Question Number : 19 Question Id : 92090614396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 f3u U wreal & Hel g & o ol daY g, 91 GAH Hay AU e g | 4 g
&g et ; Mifd Areg

(1)  fEdr: Jee (2) YHdlg® :€H
3) s ares (4) famfar: S
Options :

92090656873. 1
92090656874. 2
92090656875. 3
92090656876. 4

Question Number : 20 Question Id : 92090614397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X 1 981 gd fa2n @1 &k 81 ag udl &1 fa=n § 100° W YSdl 8 3R R arga fezn #
145° R Sl g1 3d X BT I by f3sm &1 SR &2

1 u 2 IW-yd
3) JTW (4) afémo-uigy
Options :

92090656877. 1
92090656878. 2
92090656879. 3
92090656880. 4

Question Number : 20 Question Id : 92090614397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X 1 981 gd fa2n @1 &k 81 ag udl &1 fa=n § 100° W YSdl 8 3R R arga fezn #
145° R Sl g1 3d X BT I by f3sm &1 SR &2

1 u 2 IW-yd

B) TW (4) afémo-uigy

Options :



92090656877. 1
92090656878. 2
92090656879. 3
92090656880. 4

Question Number : 21 Question Id : 92090614398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PREICLE B YR IR féad HA Sl 3 |
(1) 8 3f (2) 8 Ryamr

(3) 83 (4) 8AdraER
Options :

92090656881. 1
92090656882. 2
92090656883. 3
92090656884. 4

Question Number : 21 Question Id : 92090614398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PREICLE 1 YR AT fead HA Sl 3 |
(1) 8RN 2) 8RR

(3) 83T @) 8RR
Options :

92090656881. 1
92090656882. 2
92090656883. 3
92090656884. 4

Question Number : 22 Question Id : 92090614399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el HYET &1 99 I

A HRH AP 1 Uomell U9 RS ¢ | U8 OF IR0 § Ue9E o | Udd TRUl &
FSHH Haed g |

B. MR HAYH & YR Yo WHR YR ! Ydied SAGR] FH™ g1 3R Womed! &1
UYH TR0 g |

C. U™ WHR fgd = &1 ulaFYd $3d € 3R Udd I & AHS WHR gRI
AR B HId g | Afch 39 U Big HIABRI Wfadd T8i e

D.  S{H=IH &1 R TR0, R TR W Uahd & &9 6 g
I feu U faedl # W 98l IR & 99 Sifelg ;

(1) &ad A B3IRC
(2) Had ASIRB
(3) ®ad B3R D
(4) &dd A B3R D
Options :

92090656885. 1
92090656886. 2
92090656887. 3
92090656888. 4

Question Number : 22 Question Id : 92090614399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el HYET &1 99 I

A HRH AP 1 Uomell U9 RS ¢ | U8 OF IR0 § Ue9E o | Udd TRUl &
FSHH Haed g |

B. MR HAYH & YR Yo WHR YR ! Ydied SAGR] FH™ g1 3R Womed! &1
UYH TR0 g |

C. U™ WHR fgd = &1 ulaFYd $3d € 3R Udd I & AHS WHR gRI
AR B HId g | Afch 39 U Big HIABRI Wfadd T8i e

D.  S{H=IH &1 R TR0, R TR W Uahd & &9 6 g
I feu U faedl # W 98l IR & 99 Sifelg ;

(1) &ad A B3IRC
(2) Had ASIRB
(3) ®ad B3R D
(4) &dd A B3R D
Options :

92090656885. 1
92090656886. 2
92090656887. 3
92090656888. 4

Question Number : 23 Question Id : 92090614400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT ST B YR 359 $1 RRAR OieE1 82

(1) FAleH (2) dREArg
(3) Y uH (4) AT
Options :

92090656889. 1
92090656890. 2
92090656891. 3
92090656892. 4

Question Number : 23 Question Id : 92090614400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT ST B YR 35g $1 RRAR OieA1 87

(1) HAle®d (2) dREArg
(3) Y W (4) AT
Options :

92090656889. 1
92090656890. 2
92090656891. 3
92090656892. 4

Question Number : 24 Question Id : 92090614401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R A FyERTMUE:
FYT| : BRURE B (¢dH) Uh AU B 8, ofl DA & arHiY IR IeTl &l g1 98
Uoligpd =i SR Ff iR @r) faran s g1

HU Il : T =TS 3R YT (Goll 1l & SIS o I Ugd & o1y R gRebierd i i g1
IRl Y= & 3feid H, i AT 17U faseal # 4 ¥gl S 9a4 difo

(1) YIRS TT &

(2) YR IEH T ©

(3) ®YF| A g, Alpd YA 1| A 8
(4) HYTI TG B, Afbd FYT 1 TA 8

Options :

92090656893. 1
92090656894. 2
92090656895. 3
92090656896. 4

Question Number : 24 Question Id : 92090614401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R FERumE:

FYT| : DRURE B (cad) TP HUTS BT ¢, Gl A & ATHY W Iel ordl g1 98
Ueiigrd St TR FRTHT OR @ fovan i g

HUF Il : g TG R T (Yol H=lT) & HIe o4 4§ Ugdl & a1 IR gRapferd b oiran g1
IR YA & 3fTdes |, IF {3 U fasedl 7 4 ¥el I 904 Hife

(1) FYHISRISH TIE

(2) YT SRISH T §

(3) YT TG B, AFT HYA 11 ST 8§
(4) HYTI AT T, AP FYT 1 A8

Options :

92090656893. 1
92090656894. 2
92090656895. 3
92090656896. 4

Question Number : 25 Question Id : 92090614402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt | & 91y gt 1 &1 faE Fifoe

- -l
el Ud ABR TH
(A) TSI gaal () &d
®) fag () HAeH
(€ YTME (ny fewre™ udw
(D) T (v) Sfifgam

= fau v fasedi ¥ 9§ 9 IR &1 994 DI

(1) (A)-(1), (B)-(1), (C)-(1V), (D)-(I)
(2) (A=), (B)-(1), (O)-(IV), (D)-(I)
(3)  (A)-(V), (B)-(I1), (C)-(1), (D)-(D)
(4 (A)-(), B)-(IV), (O)-(1), (D)-(IN)
Options :

92090656897. 1

92090656898. 2
92090656899. 3



92090656900. 4

Question Number : 25 Question Id : 92090614402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl | & 91y gt 1| &1 faeE Sifore

- -l
Ad Ud dER T
(A) ST el () &
®) fag )y HAleE
(© IYTE (ny  fewTea uew
(D) dadd (V) Sfiftsgm
1 fau U fasmedl # O HEl SR &1 994 Sife:
(1) (A)-(1), (B)-(11), (C)-(IV), (D)-(11)

(3)  (A)-(V), (B)-(I1), (O)-(11), (D)-(1)

)-(

(2) (A=), (B)-(1), (O)-(1V). (D)-(1N)
)~

(4 (A)-(), (B)-(IV), (O)-(1), (D)-(I)

Options :

92090656897. 1
92090656898. 2
92090656899. 3
92090656900. 4

Part B: Nanoscience

Section Id : 920906286
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906466

Question Shuffling Allowed : Yes



Is Section Default? : null

Question Number : 26 Question Id : 92090614403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ziegler — Natta catalyst involves the metal

(1) OCr (2) Ti
(3) Fe (4) Mn
Options :

92090656901. 1
92090656902. 2
92090656903. 3
92090656904. 4

Question Number : 26 Question Id : 92090614403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SRTER A1TeT IaR® g o ¥ forg o1g ¥ S 2

() G (2) Ti
(3) Fe (4) Mn
Options :

92090656901. 1
92090656902. 2
92090656903. 3
92090656904. 4

Question Number : 27 Question Id : 92090614404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When 10 mol of N2 and 20 mol of Hz are passed through a catalytic converter, after
some time 5mol of NH3 are produced. The total number of unreacted mol of N2 and Hs
18 :

(1) 10 (2) 125
(3) 20 (4) 7.5
Options :

92090656905. 1



92090656906. 2
92090656907. 3
92090656908. 4

Question Number : 27 Question Id : 92090614404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ofd N> & 10 T 31 Ho & 20 Hid U o] URad® U ToRd 8, $© GHY &1 5 Hid NH;
JAIGd 81d 81 Nz 3R Hx & d Iba- Hiel HTS6T 38 W 3|

(1) 10 (2) 125
3 20 (4) 75
Options :

92090656905. 1
92090656906. 2
92090656907. 3
92090656908. 4

Question Number : 28 Question Id : 92090614405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The reaction from the following that involves carbocation intermediate is

(1) Aldol reaction

(2) Chlorination of methane

(3 Reimer Tiemann reaction

(4)  Hydrolysis of test butylchloride

Options :

92090656909. 1
92090656910. 2
92090656911. 3
92090656912. 4

Question Number : 28 Question Id : 92090614405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



7 A O St iy forgn neadi seleega ¥ gkl 8

(1) U fdan (2) HiEE &1 RS
(3) B AHA fpan (4) T-SCEATIRIZS Pl oel SHTHCH
Options :

92090656909. 1
92090656910. 2
92090656911. 3
92090656912. 4

Question Number : 29 Question Id : 92090614406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bond order in O,, O] and O, are

(1) 2. 2.5 and 1.5 respectively
(2) 2.5, 2 and 1.5 respectively
(3) 1.5, 2.5 and 2 respectively

(4) 2.5, 1.5 and 2 respectively

Options :

92090656913. 1
92090656914. 2
92090656915. 3
92090656916. 4

Question Number : 29 Question Id : 92090614406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
0,. 0; R 0, AEY FA G 5|

(1) 225315 (2) THHR:25 2315
(3) HY: 15,25 3N 2 (4) THH: 25 15 A2
Options :

92090656913. 1
92090656914. 2
92090656915. 3
92090656916. 4



Question Number : 30 Question Id : 92090614407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Total numbers of nucleophiles from the following is
H:0, (CHs)sP, HsCeSH, NH3,(HaC)sC®, CN-, H307

(1) 6 (2) 5
3 4 4y 7
Options :

92090656917. 1
92090656918. 2
92090656919. 3
92090656920. 4

Question Number : 30 Question Id : 92090614407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g & ga o fdasiieed €,

H20, (CHa)aP, HsCsSH, NH3,(H3C)aC®, CN-, H:O®

(1) 6 (2) 5
(3) 4 4) 7
Options :

92090656917. 1
92090656918. 2
92090656919. 3
92090656920. 4

Question Number : 31 Question Id : 92090614408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Volume occupied by 20.0 g of Hzat STP is

(1) 224L (2) 224L
(3) 224L {4) 11.2L
Options :

92090656921. 1



92090656922. 2
92090656923. 3
92090656924. 4

Question Number : 31 Question Id : 92090614408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

20 U9 H. &1 STP W fadm1 Amad= gar g1

(1) 224 dieY (2) 224
(3) 224 wieX (4) 112 dex
Options :

92090656921. 1
92090656922. 2
92090656923. 3
92090656924. 4

Question Number : 32 Question Id : 92090614409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Type of bond present in CuS04-5H20 is

(1) Electrovalent bond
(2) Covalent bond
(3) Co-ordinate bond

(4) Electrovalent, covalent and co-ordinate bond

Options :

92090656925. 1
92090656926. 2
92090656927. 3
92090656928. 4

Question Number : 32 Question Id : 92090614409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CuSOs - 5H.0 T T TSR &1 3ae gidl o7
(1)  dggd Tarel e
() Heudrsl Y

(3) JUYg Ggioiehdl ey
(4) dogd Sdiel, Heudeh R IugHaeEdl AEY

Options :

92090656925. 1
92090656926. 2
92090656927. 3
92090656928. 4

Question Number : 33 Question Id : 92090614410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A process 1s spontaneous at all temperatures if

(1) AH=0and AS=0 (2) AH=0and AS=0
(3) AH=0and AS <0 (4) AH=0and AS <0
Options :

92090656929. 1
92090656930. 2
92090656931. 3
92090656932. 4

Question Number : 33 Question Id : 92090614410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T Wb H YT dTIHH IR W gidl 8 dia :

(1) AH < 0 3R AS > 0 (2) AH>03RAS>0
(3) AH > 0 3T AS < 0 (4 AH=03TAS <0
Options :

92090656929. 1
92090656930. 2
92090656931. 3
92090656932. 4



Question Number : 34 Question Id : 92090614411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
KMnO, acts as a

(1)  Strong reducing agent
(2) Strong oxidizing agent
(3) Weak reducing agent.
(4)  Weak oxidising agent.

Options :

92090656933. 1
92090656934. 2
92090656935. 3
92090656936. 4

Question Number : 34 Question Id : 92090614411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

KMnO. &1 &l g

(1) Ve Ul HRE &1 e (2) Vdd 3HRIHRS $l Tg
(3) gdd UIfiERS B RE 4) gdd HRIFRS &I e
Options :

92090656933. 1
92090656934. 2
92090656935. 3
92090656936. 4

Question Number : 35 Question Id : 92090614412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Work done by the system when 6 mol of an ideal gas at 25°C is undergoing expansion
reversibly from initial volume of 5 dm? to final volume of 50 dm®.
(given R = 8.314 J K" mol™")

(1) —28.5 kdJ (2) 285kd
(3) 2850 k.J (4) 28.5kd

Options :



92090656937. 1
92090656938. 2
92090656939. 3
92090656940. 4

Question Number : 35 Question Id : 92090614412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W 25°C AIYAT U UF G 719 & 6 Al &1 IchAUT UHR 81 IR URMIS 3/[d 5 dm?
Y sifaH 3maaH 5 dm? 81 911 g, Fier gR1 i mar & gar g

(RATE R = 8314 J K" mol)

(1) -28.5 fdaie (2) 285 fohaioa
(3) 2850 fFaa@ 4) 28.5 fFarem
Options :

92090656937. 1
92090656938. 2
92090656939. 3
92090656940. 4

Question Number : 36 Question Id : 92090614413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Solubility product for a salt AB i1s 1.6 x 104, Solubility of the salt in water 1s

(1) 16 mol dm— (2) 4x10°%mol dm-
(3) 4 x 10 mol dm—3 (4) 1.6 x 10-* mol dm—
Options :

92090656941. 1
92090656942. 2
92090656943. 3
92090656944. 4

Question Number : 36 Question Id : 92090614413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AB AU B! fdiTdl 0% 1.6 x 107° §, 39 dV &I ofc H faeidar g1

(1) 16 mol dm™ (2) 4 x 10 mol dm™
(3) 4 x 10 mol dm™ (4) 1.6 x 10" mol dm™
Options :

92090656941. 1
92090656942. 2
92090656943. 3
92090656944. 4

Question Number : 37 Question Id : 92090614414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of disintegrations per second undergone by 1g of iiﬂRa is :

(Given: Rate constant k = 1.37 % 10-11 1)

(1) 2.666 x 10%1 glgl (2) 3.66x1010g1g?
(3) 5.049 x 1010 g-1 g1 (4) 3.66 x 108 g1 g1
Options :

92090656945. 1
92090656946. 2
92090656947. 3
92090656948. 4

Question Number : 37 Question Id : 92090614414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 Z26Ra 1 Ufd Afpvs faua wem @1 (@an § Podie @ k=137 x 10775

(1) 2666 x 10?' g's™ (2) 366 x10"g"s’
(3) 5.049x10"7g"s" (4) 366x10%g"s!
Options :

92090656945. 1
92090656946. 2
92090656947. 3
92090656948. 4



Question Number : 38 Question Id : 92090614415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Correct IUPAC Name of the following compound 1s
OHC-CH=CH-CH-CH=CH:
|

CH: - CH: - CH: - CH3
(1) 4 — Butyl — 2, 5 — hexadien - 1 - al
(2) 5—Vinyloct — 3 —ene—1—al
(3) 5-Vinyl-5—-—ene—8-al
(4) 3 — Butyl — 1,4 — hexadien — 8 — al

Options :

92090656949. 1
92090656950. 2
92090656951. 3
92090656952. 4

Question Number : 38 Question Id : 92090614415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
{74 i 1 Eel IUPAC ATH B
OHC-CH=CH-CH-CH =CH>
|
CH2 - CHz — CHz2 - CH3

(1) 4-9CT3d -2, 5 - SIS — 1 — 3fd
2) 5-faTEdsfiee -3 -39- 9@ - 1- 3@
3) S5-AEdA-5-39-8-3@

(4) 3 -SCT3d- 1,4 BaHISISH - 8 — 3

Options :

92090656949. 1
92090656950. 2
92090656951. 3
92090656952. 4

Question Number : 39 Question Id : 92090614416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which of the following is the most stable radical?

(1) CH, (2) R-CH,
(3 R,CH (4) R,C
Options :

92090656953. 1
92090656954. 2
92090656955. 3
92090656956. 4

Question Number : 39 Question Id : 92090614416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g 7 @ S vl wirf YEiea 1

(1)  CH, (20 R-CH,
(3) R,CH @y RiC
Options :

92090656953. 1
92090656954. 2
92090656955. 3
92090656956. 4

Question Number : 40 Question Id : 92090614417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The primary valency of Fe in [Fe (CN)g]* is:

(1) +2 (2y +1
(3) +3 (4) 2.5
Options :

92090656957. 1
92090656958. 2
92090656959. 3
92090656960. 4



Question Number : 40 Question Id : 92090614417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[Fe (CNJs]* T Fe &1 URMYF Hdioishdl ¢l

(1) +2 R
(3) +3 4) 25
Options :

92090656957. 1
92090656958. 2
92090656959. 3
92090656960. 4

Question Number : 41 Question Id : 92090614418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The order of reaction is

(1) Never fractional.
(2) Never zero.

(3) Always equal to stoichiometric number of reactants in balanced chemical
equation.

(4)  An experimentally determined quantity.

Options :

92090656961. 1
92090656962. 2
92090656963. 3
92090656964. 4

Question Number : 41 Question Id : 92090614418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3ff¥fchar &1 Hife gt 3|

(1) i iR T8t
2 @ e
(3)  Hdfe IS SIS0 H RN Eigihamicd ST & axIa]
(4) TS U w9 9 Fuffa demn
Options :

92090656961. 1
92090656962. 2
92090656963. 3
92090656964. 4

Question Number : 42 Question Id : 92090614419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The bond angles in NH3 and H20 are

(1) 109°28" and 107°48 respectively
(2) 107°48" and 109°28’ respectively
(3) 107°48" and 104°27 respectively
(4) 107°48" and 107°48" respectively

Options :

92090656965. 1

92090656966. 2

92090656967. 3
92090656968. 4

Question Number : 42 Question Id : 92090614419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
NH3 3R HoO # 3fTat S0 gld g
(1)  H: 109728’ 3R 107°48"
(2) HY: 10748 3R 109728"
(3)  TPHRI: 107°48' 3R 104727’
(4)  HHI: 10748 3R 107°48

Options :



92090656965. 1
92090656966. 2
92090656967. 3
92090656968. 4

Question Number : 43 Question Id : 92090614420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If 4°[Ca® )=119.0 S cm? mol™ and 2° (C17)=76.3 S cm? mol ™! then

A 'm(CaCl, )= Scm® mol™

(1) 271.6 (2) 27.16
(3) 152.6 (4) 119.0
Options :

92090656969. 1
92090656970. 2
92090656971. 3
92090656972. 4

Question Number : 43 Question Id : 92090614420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gig 2° (('3324'): 119.0 S em? mol ™! 3R 2° ((.‘-1_] _]: 76.3 S em? mol ! T4

A m(CaCl, )= Scm” mol

(1) 2716 (2) 27.16
(3) 152.6 (4) 119.0
Options :

92090656969. 1
92090656970. 2
92090656971. 3
92090656972. 4

Question Number : 44 Question Id : 92090614421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The rate constant for a certain first order reaction is 1.60 x 105 5! at 600 K. The
energy of activation for the same 15 209 kJ mol-!. The rate constant for the same
reaction at 700 K is (Given R =8.314 J K- mol1-).

(1) 6.36x 102 (2) 6.36 x103
(3) 6.36x105 (4) 3.2x105
Options :

92090656973. 1
92090656974. 2
92090656975. 3
92090656976. 4

Question Number : 44 Question Id : 92090614421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

600 K d9H W Uy Hife qfufiea & Fadie a3 1.60x10° s 81 39& forw gicegu
ol 209 kJ mol-' 81 700 K dT9HM U 39 SifHfehar & fore Fodie & gidl 8

(1) 636 x107 (2) 6.36 x 107
(3) 6.36x10° 4) 3.2 x10°
Options :

92090656973. 1
92090656974. 2
92090656975. 3
92090656976. 4

Question Number : 45 Question Id : 92090614422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements:

Statement 1 > 15 more reactive towards electrophilic aromatic

substitution reaction than ﬁj/
/©/ F
Statement 11 . (LN

i on reaction with NaOCHs gives 2N

Umm

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement Il are true
(2) Both Statement I and Statement 11 are false
(3 Statement I is true but Statement 11 is false

(4) Statement I is false but Statement 11 1s true

Options :

92090656977. 1
92090656978. 2
92090656979. 3
92090656980. 4

Question Number : 45 Question Id : 92090614422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



APy RTMUE:

DY | - @”ﬁwﬂﬁ@%@mm&ﬁﬁmaﬁmm wrer
st fararefiar 81 |

OCH,

F
U /Q/ NaOCH; Jofifpmaaim  [( ] awarg)
0, 0,0

I HY & 3fdld H A G U faswedi # 9 el Idl 994 Hifolg

(1) ®YTIRISHAIgd g

2) YR I EH EAT B

(3) @Y1 TG g, Afbd BUT 1l ST §
(4) DU YA T, Afb HU 11 U §

Options :

92090656977. 1
92090656978. 2
92090656979. 3
92090656980. 4

Question Number : 46 Question Id : 92090614423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT :

List I (Ligand) List II (Type)
(A) CN (I) Polydentate
(B) CO (I) Didentate
(C) EDTA*" (IIT) Ambidentate
(D) czgj‘ (IV) Neutral

Choose the correct answer from the options given below:

(1) (AL, (B)-IV), (C)-(1D), (D)D)

(2) (AL, (B)-IV), (C)-(D), (D)-(ID)

(3)  (A)-AV), (B)-(ID), (C)-(I), (D)-(IL)

(1) (A)-(IV), (B)-(I), (C)-(11), (D)-(ILI)
Options :

92090656981. 1
92090656982. 2



92090656983. 3
92090656984. 4

Question Number : 46 Question Id : 92090614423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gt | & Gy g 1| 1 e Fifeg
il-| (ferTs) it -1l (C18T)

(A) CN () didig<e
() CO ny ST
(C) EDTA* (n TEIgTe
Dy C,0F (V) ged

Hia fau e fasedl | 9 &l I &1 984 S

(M (A=), (B)-(1v), (Q-(), (D)-()
(2)  (A)-(m), (B)-(IV), (©)-(1), (D)-(I)
(3) A0V, (B)-(I), (©)-(1), (D)-(11)
(4 (A)-(V), (B)-(I), (C)-(1), (D)-(l1D)

Options :

92090656981. 1
92090656982. 2
92090656983. 3
92090656984. 4

Question Number : 47 Question Id : 92090614424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements:

OH O o

L0
CH-C-NH, A n
Statement I . ©/ on reaction with Brz | KOH gives @f :

Statement 11 :  Hoffmann bromamide reaction is used for converting primary
amides to amines.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement [ is true but Statement 11 is false
{(4) Statement I is false but Statement 11 1s true

Options :

92090656985. 1
92090656986. 2
92090656987. 3
92090656988. 4

Question Number : 47 Question Id : 92090614424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A AR S

HHM(ijﬂ%ﬁ&ﬂmmﬁﬂmﬂﬁm%ﬁ i_Eﬁﬁl

YU |l - E?h?qv1iﬂ1nﬂnﬁa'aﬁﬂﬁ%tnIﬂﬂﬁqaiq1ﬁ%?1aﬁlpfFﬁﬂ“ﬁlﬂ?aﬁﬁ$aﬁ{ﬁiiznﬂTréhﬁ
|

IWiad HYA & Hald H Hid U U f[ddhed! H§ 9 9gl It 994 Sifell

(1) S AR 9T 8
@ @Y AR IEH A
(3) YT IFA G, Al Y I A §
(4) DY HIA T, b HYFT Il FE B
Options :
92090656985. 1
92090656986. 2

92090656987. 3
92090656988. 4



Question Number : 48 Question Id : 92090614425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A) : Cl-is the conjugate base of HCL

Reasons (R):  Conjugate acid and base both have same number of protons.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct

Options :

92090656989. 1
92090656990. 2
92090656991. 3
92090656992. 4

Question Number : 48 Question Id : 92090614425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a3 PYA 13U MU T TP B (Assertion A) B FU T fafdd g I 00 89S HRUI
(Reason R}ai_?:m:lﬂ:

IUFYT A : €I, HC T TgElt GR |
PRUR: TGt 3wt 9 &R 1§ 9HE WieH gid g
JURIad HYF F el H, =i 4T TT f[dhedl H ¥ Tad Iugad du &1 98- Hifolg

(1) AIRREH T8l g 3R R A DI UGl AT ©
) ASIRRGHI Gel g, dfch R, A DI Tl oIS ol o
(3) AWTGIG ABFARTSI TSI 8
(4 AGSIEIE AiPIRTEN T
Options :
92090656989. 1
92090656990. 2



92090656991. 3
92090656992. 4

Question Number : 49 Question Id : 92090614426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements -

Statement [ : In isobaric reaction, the pressure throughout the reaction is
constant.
Statement I  : In adiabatic condition there is no exchange of heat and system is

completely isolated.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement 1 is true but Statement 11 is false

(1) Statement [ is false but Statement 11 is true

Options :

92090656993. 1
92090656994. 2
92090656995. 3
92090656996. 4

Question Number : 49 Question Id : 92090614426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EIEEAEAIE ACRR U
HY | . WG Sififsean 1, iyl gRI e fRR Wl gl

T 1 - BRI (SRR ®) sEw § SN &1 IEH-UeH T gl § 9 e Tfa:
IERURGRIE

IR HYF & Hd® §, A U MU [ddhedl § I Tol 3l 9d- BIvg
1) &Y AR NS T e
2) HYFIARNGH I E

3) HYTITIE, AT HUTI T
(4 HYTIIEIE, APTPUTII G ©



Options :

92090656993. 1
92090656994. 2
92090656995. 3
92090656996. 4

Question Number : 50 Question Id : 92090614427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[dentify the homoleptic complexes from the following
(A) [Cr(en)z] Cls

(B) Ki[Fe(CN):NOJ

(C) Fe(CsHs):

(D) Li[AlH4]

(E) Nay[ZnCly]

Choose the correct answer from the options given below :

(1) (A, (B).& (D) only

(2) (A, (B), & (E), only

(3)  (B), & (C), only

(1) (A), (C), (D), & (E), only

Options :

92090656997. 1
92090656998. 2
92090656999. 3
92090657000. 4

Question Number : 50 Question Id : 92090614427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



{5 7 9 grciP® dgpell Bt ugdl B -
(A)  [Cr(ema]Ch

(B) Ka [Fe(CN)sNO]

(Q) Fe(CsHs)2

(D) Li[AlH4]

(E)  Naa[ZnCli]

12 fau U fasedl # 9 TEl SR &1 994 $ifore :

(1) @dd A B3R D
(2) dd A B3IRE
(3) dd BARC

(4) Had A C, DIRE

Options :

92090656997. 1
92090656998. 2
92090656999. 3
92090657000. 4

Question Number : 51 Question Id : 92090614428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List 11 :

List I List I1
(A) H* (I) Soft acid
By Cu* (II) Soft base
(C)y N:=Ha (III) Hard acid.
m I (IV) Hard base

Choose the correct answer from the options given below :

(1) (A)-, (B)-(LI), (C)-(AV), (D)-(IL)
)  (A)-a1, (B)-(D), (C)-(IV), (D)-(D)
(3)  (A)-(1D), (B)-(I), (C)-(1I), (D)-(IV)
(4)  (A)-), (B)-(I1), (C)-(II), (D)-(IV)

Options :



92090657001. 1
92090657002. 2
92090657003. 3
92090657004. 4

Question Number : 51 Question Id : 92090614428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
! | & |y =1 1 e Sy

- i
(A) H° (h Hgd 3
(B) Cu’ (I Hod &R
(C)  NaHq () HOIR 3T
(D) |- (V) DR &R

= fBu o fawedf & | 9 SR @1 I S

(1 (A)-(1), (B)-(lIT), (C)-(IV), (D)-(IN)

(2)  (A)-(l1), (B)-(1), (C)-(1V), (D)-(1)

(3)  (A)-(l), (B)-(1), (©)-(l1), (D)-(IV)

(@) (A)-(1), (B)-(l1), (C)-(l), (D)-(IV)
Options :

92090657001. 1
92090657002. 2
92090657003. 3
92090657004. 4

Question Number : 52 Question Id : 92090614429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ;

Statement I :  HCIO4 and HNO3: are among the strongest acids known.
Statement 11 : The strength of Oxyacid is dependent upon inherent electrone

gativity of central atom.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement 11 are falze

(3) Statement I is true but Statement 11 is false
(1) Statement I is false but Statement 1T 1= true
Options :

92090657005. 1
92090657006. 2
92090657007. 3
92090657008. 4

Question Number : 52 Question Id : 92090614429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R FyERuMUE:
FUT| - HCIO, TUT HNO; BT TFH Uad 37 1 S J1adl g 1

B |1 - SifaES P Taed BeE WA A Rfgd IgdEonerear ) AR i 2
QIR HY & 3dld 1, 14 fdu mu fas el O 9 9gl It 994 Sifolw

(1)  HYF RN I8
2 BYTI SR ITH Ed
(3) PYTITI g, Afbd HYUT I 3T ©
(4)  HYFI MUY g, A YA 11 T
Options :
92090657005 1
92090657006. 2

92090657007. 3
92090657008. 4

Question Number : 53 Question Id : 92090614430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements ¢

Statement [ : NO® 1on i1s stabilized and exists in several compounds like
NO"BF,

Statement I  : Nitrosyl ion formation results from removing an antibonding
electron.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement [ and Statement Il are true
(2) Both Statement I and Statement Il are false
(3) Statement [ is true but Statement I is false
(4) Statement 1 is false but Statement I is true

Options :

92090657009. 1

92090657010. 2

92090657011. 3
92090657012. 4

Question Number : 53 Question Id : 92090614430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIEA SR T I
HUA | : NO* 319+ RRR Td NO*BF, O s diffiepl | fderm wgdl 8|

YA || - IR A F- T UiddeH geide= gy gl ordl g |
JURIe] HYA & AP H, Hid (U T¢ fdbed 1 U Tat IRDl 99 By

1) T IR IS TIR

2) Y AR NS T §

@) HYITdE ABTIHYT I AT E
(4)  HYU | A G, b FUT I A ©

Options :

92090657009. 1
92090657010. 2
92090657011. 3
92090657012. 4



Question Number : 54 Question Id : 92090614431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) : Graphite, an allotrope of carbon acts as an lubricant.

Reasons (R):  Graphite layers are held together by weak van der Waals forces

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3 (A) 1s correct but (R) is not correct

(4) (A) 1s not correct but (R) 1s correct

Options :

92090657013. 1
92090657014. 2
92090657015. 3
92090657016. 4

Question Number : 54 Question Id : 92090614431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

419 § FYA 30 MU § TP UFYT (Assertion A) & FT  H ffad 8 1 TR IUF HRUI
(Reason R) b &4 W

MUY A - UBIET, Ba- &1 UH MUTEY g ol Wed Bl aie B/ Hdl el
PHRUIR: g dreYdrd ddi g1 AHISE di WRd AY-T1Y Edi g |
JUIE HYH & 3fdle H, - 30 U fadhedl # 9 a4 Iugad IR &1 994 Do

(1)  ASRRIHA FEI g 3R R, A DI Hel ARHAT &

(20  ASRRIAIYE T B R A DI U AR 7l @
(3) AWEIE AfPTRUGI T ©

(4) ARl AfbTR TGS

Options :
92090657013. 1



92090657014. 2
92090657015. 3
92090657016. 4

Question Number : 55 Question Id : 92090614432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following compounds with increasing number of 2° carbon atoms

Wy T T e e
& )W

B b St

D) M

Choose the correct answer from the options given below :

(1) (A), (B), (D), (C), (E)
(2)  (B). (©). (D), (E), (A)
(3) (D). (B), (E), (A), (C)
(4)  (E), D), (C), (B), (A)

Options :

92090657017. 1
92090657018. 2
92090657019. 3
92090657020. 4

Question Number : 55 Question Id : 92090614432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[ TiffTenT 1 2° HTe- WAV & d6d HH J oIaieyd &l

B 7 R e
. /\\(

G S,

) M

= /‘X\

i f6u T faedi © 9 Hel IR &1 994 S :

(1) (A, (B), (D), (C), (E)
(2)  (B), (C), (D). (E), (A)
(3) (D) (B), (E), (A), (O
(4)  (E), (D), (C), (B), (A)

Options :

92090657017. 1
92090657018. 2
92090657019. 3
92090657020. 4

Question Number : 56 Question Id : 92090614433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[dentify polar aprotic solvents from following

(A) DMSO

(B) CHs;CH=0H

() 18-Crown-6-ether
(D) Hexane

(E)  Acetic acid

Choose the correct answer from the options given below :
(1)  (B) & (E) Only
(2)  (0), (D) & (E) Only
(3) (A & (C) Only
(4)  (B), (C) & (D) Only
Options :



92090657021. 1
92090657022. 2
92090657023. 3
92090657024. 4

Question Number : 56 Question Id : 92090614433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 ¥ 4 ydia uuifes fadias! o1 ugarq $11
A, DMSO
B. (CH:CH:=0H
C.  18-hl3-6-ga
D. ®FHA
E  UHifes spa
i 16U 7Y fased] & § 9l IR &1 TG Bifo ;
(1) $dd B IRE
) Pad C,DIRE
(3) Fad ASRC
(4) ad B, C 3RA
Options :
92090657021. 1
92090657022. 2

92090657023. 3
92090657024. 4

Question Number : 57 Question Id : 92090614434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT :

List I List 11
Reagent used Reaction
(A) Zn(Hg), HCI (I) Aldol reaction
(B) CHCIl;, KOH (IT) Reimer-Tiemann reaction
(C) NaOH + excess I2 (III) Wolff — Kishner reduction
(D) Dilute NaOH (IV) Haloform reaction

Choose the correct answer from the options given below :

(1)  (A)-(IV), B)-I1I), (C)-dD), D)-(D
(2) (A, (B)-1D), (C)-(IV), (D)-(D)
(3) (AL, (B)-(II), (C)-(I), (D)-(AV)
(4)  (A)-(D, (B)-I), (C)-(IL), (D)-(AV)

Options :

92090657025. 1
92090657026. 2
92090657027 3
92090657028. 4

Question Number : 57 Question Id : 92090614434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I | & Ty g 1| T e Sy
-1 (g sifidti®) Tt -1 (3

(A) Zn(Hg), HCl () TSI i

(B) CHCls, KOH () IR A fHfean
(C) NaOH + 3ffai¥ed I (1) drew foI=R =g+
(D) T NaOH (IV) SABRA iR

+id fgu U fa@ eyl O 9 Tl Io &l 99 Hifeg:

(1 (A)-(V), (B)-(l1), (C)-(11), (D)-(1)
(@) (A=), B)-(I), (O)-(IV), (D)-(I)
(3)  (A)-(m), (B)-(1), (C)-(1), (D)-(IV)
@) (A)-(1), (B)-(1N, (©O)-(m), (D)-(IV)

Options :



92090657025. 1
92090657026. 2
92090657027. 3
92090657028. 4

Question Number : 58 Question Id : 92090614435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are 1 M aqueous solutions each. Arrange them in increasing order of
boiling points.

(A) Glucose

(B) Sodium chloride

(C) Calcium nitrate

(D) Potassium ferricyanide

Choose the correct answer from the options given below :

(1) (D), (C), (B), (&)
2 A, B, ), D)
(3) (B, (C), (A), (D)
(4)  (C), (D), (B), (A)

Options :

92090657029. 1
92090657030. 2
92090657031. 3
92090657032. 4

Question Number : 58 Question Id : 92090614435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



¥ 1M F Selig e 28 U € 3= FauAie & 9ed BH | ouafyd &Y
A, DS

B. HIfSuH FNIZS
C. HalgyAEgee

D. ureferm BiRFEs
419 AU 0 fasseul ¥ ¥ Ul IR &1 I9 Sifor ;

(1) (D) (Q), (B). (A)
(2) (A (B) (C) (D)
(3)  (B) (Q) (A), (D)
(4)  (C). (D). (B), (A)

Options :

92090657029. 1
92090657030. 2
92090657031. 3
92090657032. 4

Question Number : 59 Question Id : 92090614436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement 1 :  Frenkel defect 12 also known as dislocation detect which does not
change the density of the solid

Statement 11 :  Schottky defect is a Vacancy defect which maintains electrical
neutrality

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3 Statement I is true but Statement 11 is false
(4) Statement I is false but Statement 11 iz true
Options :
92090657033. 1

92090657034. 2
92090657035. 3



92090657036. 4

Question Number : 59 Question Id : 92090614436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T gy fleu T @

FYA | ; Thbd a9 & [GRITH &Y & w4 § 1 SH I1a1 & 98 319 & ¥-d &) o aGadl ¢
HY || : TRP! Y Yeb Reiall G19 g T8 dgad Jarii-al SIPIR &1 8|

IWRIE &Y & el d, Hid 14U 7 fasedl d 9 gl I 9+ Sifig

(1) ®F AR NGH IA T

() Y AR NTH T E

3) YT | T g, Al HYUF 1| ST &
(4) T NTAG, APT PN T T

Options :

92090657033. 1
92090657034. 2
92090657035. 3
92090657036. 4

Question Number : 60 Question Id : 92090614437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the correct statements about inner transition elements

{(A) These are known as d-block elements

(B) Lanthanoids and actinoids are two series included in inner transition elements
()  There are fourteen elements in each of Lanthanoid and actinoid series

(D}  In the series with increase in atomic number the atomic radii increase

(E) Lanthanoids are silvery white soft metals

Choose the correct answer from the options given below :

(1)  (A), (B) & (D) Only
(2) (B), (C) & (E) Only
(3) (C), (D) & (E) Only
(4)  (A), (C) & (E) Only
Options :
92090657037. 1
92090657038. 2



92090657039. 3
92090657040. 4

Question Number : 60 Question Id : 92090614437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHTeRfF HH YT el & aR § U6l dYHl &1 dgar |

(A) I d-sP d@l & =9 F o oid g

(B) TUAIZSY U4 Ua g &I HidiNa ShHvI ddl | af Aol & 3@ T g
(C) UdD adAIgs Ud facigs 4uit # digg da @ T g

(D) 31 S0 F URAIY] HHIES e & §d TRATY] B gedi g

(F) TUISSd dic! Hexd Uthe HoTad UTgu 5

1 feu e fawen! & @ 9Et I &1 9w S ;

(1) (A), (B) 3R (D)
(2) ,{CNM
(3) ), (D) 3 (E)
(4) ), (C) 3R (E)
Options :

92090657037. 1
92090657038. 2
92090657039. 3
92090657040. 4

Question Number : 61 Question Id : 92090614438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The nearest neighbour distance in a face centred cubic (FCC) structure in term of
lattice constant ‘a’ is

13 @2 2a
@  a/2 (1) ga
Options :

92090657041. 1
92090657042. 2



92090657043. 3
92090657044. 4

Question Number : 61 Question Id : 92090614438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Weld dind Y- I¥E-1 § Sids Fadie ' & ug § Faead ufaash g gidl 81

i = 2) 2a
3 a/2 @) ?a
Options :

92090657041. 1
92090657042. 2
92090657043. 3
92090657044. 4

Question Number : 62 Question Id : 92090614439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: : ; aqQ ) .
If & 1s volume expansion coefficient at constant pressure, then the value of [T] 18:

oF
al’ ol
-l O N
= T[EFL o T[ oP ]

18V
() Vi (4) b_’[ s L

Options :

92090657045. 1
92090657046. 2
92090657047. 3
92090657048. 4

Question Number : 62 Question Id : 92090614439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2P
o %) o o2)
@) -TVa 4) %[%L
Options :

92090657045. 1
92090657046. 2
92090657047. 3
92090657048. 4

Question Number : 63 Question Id : 92090614440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Bragg's law (of X-ray diffraction) is used for the determination of :

(1) Surface Area of materials
(2) Crystal structure
(3) Hecombination rate of charge carries

(4) Elemental composition of a material

Options :

92090657049. 1
92090657050. 2
92090657051. 3
92090657052. 4

Question Number : 63 Question Id : 92090614440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s Frgw (x-faeor e &) feaes Fufvor 3 i g 82

(1) el & gy damd () fopved dxa

(3) MY HdIaedh! Bl gater &3 4) uard & difds ddeH

Options :
92090657049. 1
92090657050. 2



92090657051. 3
92090657052. 4

Question Number : 64 Question Id : 92090614441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let nand n, be the concentration of electrons and respective holes in a
Semiconductor. Which of the following statement is true for extrinsic semiconductors?

(1) a, >n, 2) n=n,
(3 n #n, (4) n,<n,
Options :

92090657053. 1
92090657054. 2
92090657055. 3
92090657056. 4

Question Number : 64 Question Id : 92090614441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qFe 5l 0P sRaas | BH: n, U4 o, FadCA @ oid & 9iav ¢l 9150 sEarad! &
foru =T Hy I B

(1) n,>n, (2) n.=n,
(3) n,=n, 4) n <n,
Options :

92090657053. 1
92090657054. 2
92090657055. 3
92090657056. 4

Question Number : 65 Question Id : 92090614442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Miller indices of a plane whose intercepts are a. —%b and 3c on X, Y and Z

i

Crystallographic axes respectively are

1y (2386 (2 (238)
(3 (64 2) (4) (64 2)
Options :

92090657057 1
92090657058. 2
92090657059. 3
92090657060. 4

Question Number : 65 Question Id : 92090614442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U dd & X, Y Ud 7 peedl b 3feil IR ufide HHr: u,—%b U6 3c ¥ I I P AR
gdbid g7
(1) (2386) 2 (236)

(3) (6 4 2) 4) (64 2)

Options :

92090657057. 1
92090657058. 2
92090657059. 3
92090657060. 4

Question Number : 66 Question Id : 92090614443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A machine gun has a mass of 20 kg. It fires bullets each of mass 35 g at the rate of

400 bullets per minute moving with a speed of 400 m/s. The force that should be
applied to the gun to keep it in position is :

(1) 352N (2) 700N
(3) 823N (4) 933N
Options :

92090657061. 1
92090657062. 2



92090657063. 3
92090657064. 4

Question Number : 66 Question Id : 92090614443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 20 fHaum &t 7 9 35 AW ST 400 et Ufd fAfAe @t g2 ¥ el adt § &
400 HiAfHrs &t Tra A vfdwE 81 FTE R fhan g @A a@ifge S a8 srae
a1 ¥ fRua w82

(1) 35.2 e (2) 70.0-gcH
(3) 82.3 Yc4 (4) 93.3-gcH
Options :

92090657061. 1
92090657062. 2
92090657063. 3
92090657064. 4

Question Number : 67 Question Id : 92090614444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Calculate the de-Broglie Wavelength of neutron moving with the kinetic of 1.0 eV

(1) 0.14 A (2) 0.29A
(3) 039A (4) 1.29A
Options :

92090657065. 1
92090657066. 2
92090657067. 3
92090657068. 4

Question Number : 67 Question Id : 92090614444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1.0 ST dIee (eV) DI TS FHoll & TAAM LT Bt SI-anTelt ToTged & T S|

(1) 014 A (2) 029A
(3) 039 A 4 129A

Options :



92090657065. 1
92090657066. 2
92090657067. 3
92090657068. 4

Question Number : 68 Question Id : 92090614445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The electrons in a Quantum dot have

(1) Three degrees of Freedom
(2) Zero degree of Freedom
(3) Two degrees of freedom and one degree of confinement

{4) One degree of freedom and two degree of confinement

Options :

92090657069. 1
92090657070. 2
92090657071. 3
92090657072. 4

Question Number : 68 Question Id : 92090614445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

US Hicd SR H gataer o eidl g

(1)  diF fetht &t Tadaar

2 s @ |dEa

(3) < f$ill ol T 9 e & &1 Ay
(4) U 3 B WaFar 9 3 f3d B qy

Options :

92090657069. 1
92090657070. 2
92090657071. 3
92090657072. 4

Question Number : 69 Question Id : 92090614446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The stress corresponding to fracture point (with reference to relationship between
stress and strain) is called :

(1) Saturated Stress {2) Breaking Stress
(3) Elongated Stress (4) Compressed Stress
Options :

92090657073. 1
92090657074. 2
92090657075. 3
92090657076. 4

Question Number : 69 Question Id : 92090614446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

favierH fag & gl ufded &1 3 3 e & dau 7) ufdea sgar gl

(1)  Hqw ufdad (2 fysuftea
3) < ufdeEa (@) Hdifed ufaed
Options :

92090657073. 1
92090657074. 2
92090657075. 3
92090657076. 4

Question Number : 70 Question Id : 92090614447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Meissner's effect refers to :

(1) Zero Conductivity (2) Perfect Dimagnetism
(3) Infinite Specific heat (4) No Defects
Options :

92090657077. 1
92090657078. 2
92090657079. 3
92090657080. 4

Question Number : 70 Question Id : 92090614447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

AW UYd & ded 2 -

(1) < areddl 2 uf ufigEsa
(3) 3 fafay Sw (4) TuARd
Options :

92090657077. 1
92090657078. 2
92090657079. 3
92090657080. 4

Question Number : 71 Question Id : 92090614448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct descending order of de-Broglie Wavelengths associated with the following
particles moving with same velocities

(A)  Electron

(B) Proton

(C) Hydrogen Atom

(D) Helium Atom

(E) Carbon Atom

Choose the correct answer from the options given below :

(1) (A, (B), (C), (D), (E)
(2 (E). D). ). B). A)
(3)  (A), (B), (C), (E), (D)
(4) (D), (E), (A4), (B), ()

Options :

92090657081. 1
92090657082. 2
92090657083. 3
92090657084. 4

Question Number : 71 Question Id : 92090614448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[ 31 | fanM g sl | gwfta S s atrest &1 9et gedl g3 HH gl

(B) WreH

(C) TIEGIoH TRAIY
(D) IfeRIH AT
(E) PTe UTHIY]

12 fau U fasedl # 9 TEl SR &1 994 $ifore :

(1) (A) (B), (C), (D). (B)
(2)  (E). (D). (Q), (B), (A)
(3) (A, (B). (C). (E). (D)
(4) (D). (E), (A) (B), (C)

Options :

92090657081. 1
92090657082. 2
92090657083. 3
92090657084. 4

Question Number : 72 Question Id : 92090614449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s
labelled as Reason (R).

Assertion (A) : Direct band gap semiconductors are used in the fabrication of light
emitting diodes.

Reasons (R):  In direct band gap semiconductors, the transition of electron from the
bottom of conduction band to the top of valence band occurs without
releasing its energy to the crystal lattice, resulting in the emission of
photon

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (4)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct

(1) (A) 18 not correct but (R) is correct



Options :

92090657085. 1
92090657086. 2
92090657087. 3
92090657088. 4

Question Number : 72 Question Id : 92090614449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 &1 By BU U §: U@ SfU@ A (Assertion A) & w0 ¥ foREd g df Uy 99@ HRU
(Reason R}aﬂ_l‘g[i °;

HUPYT A .  SEIAE 68 19 AHGAaD| I USRI Idvid SAIS &1 # UIHT 691 911 g

PHRUR: ZISEae 48 11U s aias! B, hed was! ®f a1 Sl 3cieid & Jdigd
def & afeRdd o "ol 9y F T I IR gAagi- (490l $ Haaey BRIA
1 I ol ¢

TJWRIGd FYT & Haild H, i ST 70 fadhedi § 9 999 IUgdd Jo S 99 Difeig
(1) AJRREH Tl g AR R AT TG AT
2) ASRREHI ¥el g, Afd R, A DI el RS el &

3) AGEE ABFIRTEI TS G
4) AYSIEIG, AlPIREE

Options :

92090657085. 1
92090657086. 2
92090657087. 3
92090657088. 4

Question Number : 73 Question Id : 92090614450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ :  Fluorescence 1s radiative decay between states of same
multiplicity. It persists even after the exciting radiation is
removed

Statement I1 :  Phosphorescence is radiative decay between states of different

multiplicity; it ceases as soon as the exciting source 1s removed.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement [ and Statement Il are correct
(2) Both Statement [ and Statement Il are incorrect
(3) Statement 1 is correct but Statement 11 is incorrect

(4) Statement [ is incorrect but Statement II is correct

Options :

92090657089. 1
92090657090. 2
92090657091. 3
92090657092. 4

Question Number : 73 Question Id : 92090614450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B R T AT |

FY | - i THE agad & W) & did fafe &g B 98 Ionie A d gen &
91g T 9 9 8T 8

BT || ; WpIeI (e A SgaidT & Wi & dd fafehor & & 78 I@eiaEld & geH TR gid
sl g1 oI 8

JIWad HYH & AMdld |, Al U U f[deed! H 9 9gt il 994 Sifull

(1) SRS gd T
) YR NEH I ©
(3) Y FA 7, AT HYF 1| 3T ©
(4) YT NEAE, ABTHUT I T ©
Options :
92090657089. 1

92090657090. 2
92090657091. 3



92090657092. 4

Question Number : 74 Question Id : 92090614451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other 1s
labelled as Reason (R).

Assertion (A) : The I-V characteristics of a solar cell lie in third quadrant of the I-V
coordinate plane.

Reasons (R) ; Solar cell does not draw current from the circuit, it actually provides
current to the circuit.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is not false

(4) (A) 15 false but (R) is true

Options :

92090657093. 1
92090657094. 2
92090657095. 3
92090657096. 4

Question Number : 74 Question Id : 92090614451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 1 By 13U U § TP SHUFYT (Assertion A) & ®Y  H fifad 8 o THI ITS HRUI
(Reason R}a'TF‘-T ff;

HBUA A : TP HieR Ud BT 1-v AT ceis, 1-v Fdis ad & gdig reie @ gar g

HRUIR: HaR 9d uRgy § fAyqurt 81 diar €, 98 aad 3 uiuy @1 fayd ur
JUds Hl g

IR HYF & 3feiier H, A 34U 7 faded! & ¥ a8 Iugad IR &1 994 Sifoig

(1) AMRRIATEE SRR A DI Hel AR &

2) ASRRIAIHE T AfbAR A D TS AN AL
(3) ATEIE Al R UG S &

(4) AGEITEIE, AP R UL

Options :

92090657093. 1
92090657094. 2
92090657095. 3
92090657096. 4

Question Number : 75 Question Id : 92090614452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I :  When size of a metal nanoparticle is changed, its colour changes.

Statement I :  In metal nanoparticles, the oscillations of electron gas take place
on the surface. The quantum of these oscillations are called
surface plasmons. Surface plasmons absorb light according to the
size of the particles.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement [ and Statement I are correct
(2) Both Statement I and Statement Il are incorrect
(3) Statement I is correct but Statement 11 is incorrect

(4) Statement [ is incorrect but Statement 11 is correct

Options :
92090657097. 1
92090657098. 2



92090657099. 3
92090657100. 4

Question Number : 75 Question Id : 92090614452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RAPyRUTUE:
HUF | - FF U Ul S AAIedd Hgel deardl 6, 39d] T ded oldl |

HUF 11 - U AIeEl §, Fede araql 9 19 g W 1 W 81 39 Sl &1 Squi
WhY WA FHedidl g HUI & HEd & HTUR WNHY WHY TSl &
I FId 3|

IR HYA & 3Mdid 1, A" feu 7o fasdi A 4 9gl I 994 Sifeu

(1) HYTIRNSAI g g

2) HYFISRISH AEA 8

(3) DY FA g, Wlh HYA |l 3T &
(4) DY A g, Albd HUA || T &

Options :

92090657097. 1
92090657098. 2
92090657099. 3
92090657100. 4

Question Number : 76 Question Id : 92090614453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mateh List I with List IT ¢

Liat 1 List 11
(Semiconducting structure) Density of states (DOS)
(A) Quantum Dots r

:‘.'_E
o = k
Energy
(B) Nanowires
a 2 i
Encrgy
(C) Quantum wells
() = ‘
Energy
(D) Bulk materials
& e
(IV) 2
Fnergy

Choose the correct answer from the options given below:

(1) A1), B)-(D), (O)-(ID), (D)-(IV)
(2)  (A)-(ID), (B)-(IV), (C)-(D), (D)-(IT)
(3)  (A)-(ID), (B)-(D, (C)-(IV), (D)-(IT)
(1) (A)-D), (B)-(ID, (C)-(I1L), (D)(IV)

Options :

92090657101. 1
92090657102. 2
92090657103. 3
92090657104. 4

Question Number : 76 Question Id : 92090614453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



il | 6 |1y gl || 671 e Hiferg

- Tl -l
AT HIaIl HARITH] P U+ (DOS)
(A) TICHSRA (1) E_’
%5
St
() FAIdRI (1 E
%
Fall
(C) icH I () E
%%
Sl
(D) Tep Hel gy (V) E YR
%
Tl
4 fRu U faredi § © | IR &1 994 BT

(1 (A=, (B)-(1, (C)-(I), (D)-(IV)
(2) (A=), (B)-(V), (O)-(1), (D)-(1)
(3} (A)-(), (B)-(1), (O-(IV), (D)-(IN
(4 (A1), (B)-(11), (O)-(), (D)-(IV)

Options :

92090657101. 1
92090657102. 2
92090657103. 3
92090657104. 4

Question Number : 77 Question Id : 92090614454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following planes of simple cubie unit cell according to increasing order of
their lattice spacing:
(A) (211)plane
(B) (001)plane
(C) (110)plane
(D) (111)plane
(E) (201)plane

Choose the correct answer from the options given below :

(1) (A, (C), (B), (D), (E)
(2) (A, (B), (D), (E), (C)
(3)  (B), (C), (D), (E), (A)
(4)  (E), (A), (B), (C). (D)

Options :

92090657105. 1
92090657106. 2
92090657107. 3
92090657108. 4

Question Number : 77 Question Id : 92090614454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
4 aa 3 IR - 3FTE A & HTIR 39 el aIed gl & HHER Saredd Bl

(A) (211)dd
By (001)dce
(O (110)dd
@ (111)dd
(E) (201)da

Hid féu U famedi 3 T gl I &1 9g- Hif :

1 (A), (C). (B), (D), (E)

(1)

2)  (A), (C) (D) (E), (C)
)
)

(3 (B), (C). (D), (E), (A)
(4) (B (A), (B), (O), (D)
Options :

92090657105. 1
92090657106. 2



92090657107. 3
92090657108. 4

Question Number : 78 Question Id : 92090614455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are not correct in the case of an acceptable wave
function () applicable to the real world?

(A) W must always be a real function.

(B) _ﬂ y |2f.|f'.”' =1

—on
(C) W must be continuous and single valued everywhere.

dr dir

(D) : : must be continuous and single valued everywhere.
dx oy oz
Fy dir O .

(E) i : _\W _.E must always be positive.
dx dy oz

Choose the correct answer from the options given below :

(1)  (B) & (C) only
(2)  (A) & (D) only
(3) (B) & (E)only
(4)  (A) & (E) only

Options :

92090657109. 1
92090657110. 2
92090657111. 3
92090657112. 4

Question Number : 78 Question Id : 92090614455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafed # 9 S/ FUF, U6 Dol a0 o ol dRaidd SiFTd W SHEAWENS 8 &
e 7 wel AT 81
A. UM US gyrd, araids wad g el

B. I|w|2dV:l

—o0

C. HIcH g1 FfeT Tyl 82 S8 Udh HIH i1 Afgu|

D. ¥ % % gaqqu i oE UHHH S AR
or oy Oz

£ 2V OV OV =hey e rA® @ TIRYl
ox Oy 0Oz

e faw 7Te faeedl # 9 Wl IR &1 99 Hifoly -

(1) &ad B3RC

(2) ®dd A3RD

(3) ad B3RE

(4) Had ASIRE

Options :

92090657109. 1
92090657110. 2
92090657111. 3
92090657112. 4

Question Number : 79 Question Id : 92090614456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements is not correct in the case of paramagnetic
materials?

(A) In an external magnetic field, these materials get weakly magnetized in the
same direction of applied field.

(B) Magnetic susceptibility of these materials is always negative.
(C)  Relative permeabhility of these materials is always greater than 1.
(D) They show no spontaneous magnetisation.

(E) It occurs generally for atoms or ions having partially filled electronic shells or
odd number of electrons.

Choose the most appropriate answer from the options given below :

(1) (A only
(2)  (C) only
(3)  (B)only
(4)  (E) & (D) only

Options :

92090657113. 1
92090657114. 2
92090657115. 3
92090657116. 4

Question Number : 79 Question Id : 92090614456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Froafafad syl 1§ 9 srde® gard & e # S8 FyF 99 78 8

A

U a1el e &3 § 3 yard sruaifid & & w9 fGun § #HWR ¥4 ¥ gafdd
gl gl

2 yardf &1 g9 gH= BUHS aidl g |

g uerdf & Wraféd umdr 9 1 9 31 gt g

d ad 9edd &1 Ue A el Fd g

gg HTHg YA 41 1G] & Sif¥e 4 8 4R g0 9 91 Saded &I fauy @ & fou
gfed grar gl

it fau e fasedi @ 9 98 IR &1 99 Hifoie ;

(1)
(2)
(3)
(4)

Fad A
Fad C
$ad B
Fdd E SR D

Options :

92090657113. 1
92090657114. 2
92090657115. 3
92090657116. 4

Question Number : 80 Question Id : 92090614457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mateh List I with List IT ¢

Liat 1 List 11
(A) Continuity equation O VIV =- %
3 fa Ca B 'y = ) . -n.l
(B) Poisson’s equation ) v.3=- -:;_p
ot
(C) Laplace equation (III) V'V =0
(D) Gauss Law ) ; —E’ _ P
€0

Choose the correct answer from the options given below:

(1) (A)-D, (B)-(ID, (C)-(I1L), (D)(IV)
(2)  (A)-1D), B)-D), (C)-(ID), (D)-(IV)
(3)  (A)-ID, (B)-(ID), (C)-AV), (D)-(I)
(4)  (A)-(IV), (B)-(1I), (C)-(1D), (D)-(D)

Options :

92090657117. 1
92090657118. 2
92090657119. 3
92090657120. 4

Question Number : 80 Question Id : 92090614457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gt | < Gy G 1| 1 i Sifere

(A)

(B)

(€)
(D)

- Tt -
|l GHIHRU! M VvV =—%
]
RIDRE R RICR| n v.jo_®
ot
AT HHIE] ay viV=0
My fFaw — —»
v v.E=2L2
=N

Hid U 70 faedl 1§ 9l I &1 99 BT

(A)-(1), (B)-(l1), (C)-(1), (D)-(IV)

(@) (A)-(), (B)-(I), (©)-(), (D)-(IV)

(3} (A)-(), (B)-(lI), (C)-(IV), (D)-(I)

(@) (A)-(V), (B)-(I), (C)-(IN), (D)-(N)
Options :

92090657117. 1
92090657118. 2
92090657119. 3
92090657120. 4

Question Number : 81 Question Id : 92090614458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The element which is not present 1in an expression vector:

(1)
(2)
(3)
(4)

Selection marker to select host eells, which contain the vector
Two different origin of replication
Promoter sequence upstream of the cloned gene

Unique restriction enzyme sites for insertional cleaning

Options :

92090657121. 1
92090657122. 2
92090657123. 3
92090657124. 4



Question Number : 81 Question Id : 92090614458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d 31974 Sl U (URIYH Jaer) Ui Hares & JufRG TSI g & -

(1) U SIfRre1el & = & o gaeedd A, o Hargd @dey) Afga gl
2 < fim ~3iifeE sifw e mfaefa $t 3T

(3) oM BT SiF & B UHIe YT, FUL G2 H SR

4) T EEaReEe) Fn & fon Ry RRewm) uiidwE toga

Options :

92090657121. 1
92090657122. 2
92090657123. 3
92090657124. 4

Question Number : 82 Question Id : 92090614459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The amino acid which does not possess any aromatic side chain is:

(1) Phenylalanine {2) Tyrosine
(3) Tryptophan (4) Threonine
Options :

92090657125. 1
92090657126. 2
92090657127. 3
92090657128. 4

Question Number : 82 Question Id : 92090614459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ag ofHT o fored @i Toafes uisf (@1gs) Jaen el el ¢ -

(1) e waHE (2) eI
(3) feuetsa 4 fEEE
Options :

92090657125. 1



92090657126. 2
92090657127. 3
92090657128. 4

Question Number : 83 Question Id : 92090614460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Termites can easily digest cellulose due to a symbiotic microorganism, Trichonympha.
Trichonympha secrets enzymes

(1) Cellulase (2) Pectinase
(3) Cutinase (4) Chitinase
Options :

92090657129. 1
92090657130. 2
92090657131. 3
92090657132. 4

Question Number : 83 Question Id : 92090614460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

M\ S 9 U ggolldh Yerelian] craSiFmnT & 50 HllgH & SR S 9 dogard
CAREIINGIR]

1 Igad (2) ufdew

(3) TS (4) @RI

Options :

92090657129. 1
92090657130. 2
92090657131. 3
92090657132. 4

Question Number : 84 Question Id : 92090614461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The organelle which is known as, ‘Power-house of the cell’ is:

(1) Mitochondria (2) Nucleus
(3) Golgi-bodies (4) Lysosomes
Options :

92090657133. 1
92090657134. 2
92090657135. 3
92090657136. 4

Question Number : 84 Question Id : 92090614461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7 # @ S FIEn, SIfes YR 859" & AH § oF oIl ¢

(1) WECHISa (2) HED
(3)  (eot-aTEToN Teoll H1Y (4) WZHEMH
Options :

92090657133. 1
92090657134. 2
92090657135. 3
92090657136. 4

Question Number : 85 Question Id : 92090614462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Each turn of DNA structure has a pitch in nm of

(1) 1.4 2 24
(3) 3.4 (4) 4.4
Options :

92090657137. 1
92090657138. 2
92090657139. 3
92090657140. 4

Question Number : 85 Question Id : 92090614462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(DNA) S1UA.L. EEH Ul HIS B 3feM[fd nm # 1 gl &

(1) 14 (2) 24
(3) 34 4) 44
Options :

92090657137. 1
92090657138. 2
92090657139. 3
92090657140. 4

Question Number : 86 Question Id : 92090614463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Barr body found in female cell forms due to

(1) Duplication of X chromosomes (2) Trisomy of X chromosome
(3 Deletion of X chromosome {(4) Inactivation of X chromosome
Options :

92090657141. 1
92090657142. 2
92090657143. 3
92090657144. 4

Question Number : 86 Question Id : 92090614463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4R &Y Arel BT ¥ 39 SR urd ot €1

(1) X hHEEM &1 g (2) X SHIHIEM T YA
(3) X HHEEH I e (4) X PHEH &1 FEpgeI
Options :

92090657141. 1
92090657142. 2
92090657143. 3
92090657144. 4

Question Number : 87 Question Id : 92090614464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The body temperature and hunger is controlled by

(1) Cerbellum (2) Pons
(3) Hypothalamus (4) Thalamus
Options :

92090657145. 1
92090657146. 2
92090657147. 3
92090657148. 4

Question Number : 87 Question Id : 92090614464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR &1 AU 9UT Y&, & gRI FREd 1 Sl 8 -

(1) AT ERidan) @) =
3)  AdE ERudeHE) @) Td® (UoHE)
Options :

92090657145. 1
92090657146. 2
92090657147. 3
92090657148. 4

Question Number : 88 Question Id : 92090614465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The plants having “naked seed” are known as

(1) Bryophytes (2) Gymnosperms
() Vascular plants (4) Angiosperms
Options :

92090657149. 1
92090657150. 2
92090657151. 3
92090657152. 4

Question Number : 88 Question Id : 92090614465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



urey foFH “79 die” 81d €, $edld o

(1) SR @) g
(3) HagA Uy 4) Ul
Options :

92090657149. 1
92090657150. 2
92090657151. 3
92090657152. 4

Question Number : 89 Question Id : 92090614466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Longest bone in human is

(1) Radius (2) Pelvic girdle
(3) Femur {4) Fibula
Options :

92090657153. 1
92090657154. 2
92090657155. 3
92090657156. 4

Question Number : 89 Question Id : 92090614466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hd 1 Tad Fo1 Y g

(1) Yzgw 2) Ufcas TSa (307 Argem
(3) W (4) fopagem

Options :

92090657153. 1
92090657154. 2
92090657155. 3
92090657156. 4

Question Number : 90 Question Id : 92090614467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The female mammals other than humans, shows cyclic, changes in the uterus known
as

(1) Menstrual cycle (2) Endometriosis
(3) Menopause (4) Estrous cvcle
Options :

92090657157. 1
92090657158. 2
92090657159. 3
92090657160. 4

Question Number : 90 Question Id : 92090614467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
H1ET (FA U A4 61 Breee, T § 9 uiad uefifa &ed € of Feard g1

(1) WIS 96 ) TSR
(3) g 4) SEHHAH
Options :

92090657157. 1
92090657158. 2
92090657159. 3
92090657160. 4

Question Number : 91 Question Id : 92090614468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One 1s labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) : In Gram staining, Gram positive bacteria turn purple while Gram
negative bacteria appears pink in color.

Reasons (R): Due to the presence of thick peptidoglyvcan laver, gram positive
bacteria are not able to retain erystal violet-lodine complex and thus appear purple in
color.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

{(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s true but (R) is false

(4) (A) is false but (R) is true

Options :

92090657161. 1
92090657162. 2
92090657163. 3
92090657164. 4

Question Number : 91 Question Id : 92090614468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & YA 3T MU T UF AHHHYA (Assertion A) & F9  F ffEa g @ g0 39S IR
(Reason R}ai_?m:l ﬂ;

AHUBUT A - UIH A § T eHES S igl (9Ud) <THt g ol § o9 & um
FUNS Fae i1 et 31 &1 feraan g1

HRUIR : Hidt UfPSiagsd Uid & SRU, UH YAide daciigl fhed-amde-
&mgﬁﬁﬁmmﬁﬂwﬂﬂﬁamﬁ?aﬂmaﬁmwﬁ
feEa g1

JURIad Y & 3ais H, i 4T v fdeedl H 9 988 Iugdd Ik &1 98- Hifelg

(1) AR R T8I € SRR, A DI T AT 8
2) AR RTH UGl ¢ Al R A DI TE TS el &
@ ATEE AFTRES TR
4) ATEITEIE, Wl R WS B
Options :

92090657161. 1
92090657162. 2




92090657163. 3
92090657164. 4

Question Number : 92 Question Id : 92090614469 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) :  In meiosis, recombination of genes takes place.

Reasons (R):  Crossing over takes place in pachyvtene stage of prophase I (Meiosis I)

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 (A) 1s true but (R) is false
(1) (A) 1s false but (R) is true
Options :
92090657165. 1
92090657166. 2

92090657167. 3
92090657168. 4

Question Number : 92 Question Id : 92090614469 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 €1 HY 3T U §: UF U@ (Assertion A) & ®U ¥ fafgd § df guw 39 HRU
(Reason R}aT'Fq H:

iy A - Sl favre F, <Al @1 g ufed i gl
HRUIR: (qafa;mﬁﬁﬁrumfﬂﬁﬁumnaﬁﬁaﬂﬂ?&mwﬁﬁﬂ?ﬁﬁmaﬁa
HGIE

IR HY & Heild H, i iU 7 fdhedi § I 99 Iugad Jo &1 99 $ifulg

(1) A3RREH gl § 3R R, A Bl GE ARAT @

(2) ARRGH UG g AfdA R A DI TS ATS 8 ¢
3) AUEIE AfFTrEEAETE

4) ATETEE AfbTR TG



Options :

92090657165. 1
92090657166. 2
92090657167. 3
92090657168. 4

Question Number : 93 Question Id : 92090614470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following
(A) AV node distributes signals conducted to heart apex, through ventricles to the
purkinje fibres.

(B) Atria empties after delay of 0.1second, and ventricle contraction takes place
when atrioventricular (AV) node produces impulse

(C) Sino Atrial node produces impulses, causing both atrial contraction
simultaneously

(D) The ventricles then relax and pointed wave ‘QRS’ occurs

(E) Heart again get ready for next round of atrial and ventricular contractions.

Choose the correct answer from the options given below :

(1)  (B), D), (C), (A), (E)
(2)  (C), B). (A). (D), (E)
(3 (A), (B). D), (C), (E)
(4)  (E), (D), (A), (B), (C)

Options :

92090657169. 1
92090657170. 2
92090657171. 3
92090657172. 4

Question Number : 93 Question Id : 92090614470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafefad ge-is ® 39 ufed g & ®H I Youayd Sifo -

(A) AV IS H&dl &1 o fF g0 oUd (TUa) $ SR Faid fad 1 § &1 Ada & g/
Wi dgsif & 7S o g

(B) 0.1 YPHUS DI & & UEd 3Mferg @il gid & qul Fags dgea gfed gar § &9
e e ud ([@18) a9 Iad Hial g

(C) Preaicic Ud M1d= IO gidl 8, T Hfere Y qY-2 gfed gl gl
(D) fera R §id 8 aun did ad ‘Qrs' ufed gt 31

(E) T&d UH: SFTA 9RUI & SHifere d Fag d%e & e AR gia1 8

1 fau U faeheul # 1 Wel IR $1 994 I ;

(1) (B). (D), (C). (A), (E)
(2) (€. (B). (A). (D). (B)
(3) (A (B), (D). (C). (E)
(4)  (E). (D). (A). (B), (C)

Options :

92090657169. 1
92090657170. 2
92090657171. 3
92090657172. 4

Question Number : 94 Question Id : 92090614471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PCR consists of a series of eycles and multiple steps. Arrange the steps in order

(A) Denaturation of DNA at 95°C.
(B) Primer annealing

(C) Strand separation

(Dy DNA synthesis

(E) Store at 4°C for further use.

Choose the correct answer from the options given below :

(1) A-C—-B—-=D—=E
(2) A—-B—-C—=D—=E
(3) A-D—-B—-C—=E
4 A—-C—-D—-=B-—E

Options :

92090657173. 1
92090657174. 2
92090657175. 3
92090657176. 4

Question Number : 94 Question Id : 92090614471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PCR (T41.3MR) Tl Pt gaanreil aur a8 a0l | fase & gidl 81 34 0N B HHeEG
ey Hifed |

A.  95°C TR 31.UAU. (DNA) &1 f[dPpfad Fur

B. UNYH® 3fHIcH
C. (¥3) T gyFHIu
D. DNA %9

E.  Hidsy UgnT & fou 4°C W HeRU
412 fRu 1t fasreul & 9 el IR &1 994 Fifoie

(M ASCuByDE
2 A—=B—-C—oD-—E
3) A—-D—-B—C—E
4 A—-C—->D—->B—E



Options :

92090657173. 1
92090657174. 2
92090657175. 3
92090657176. 4

Question Number : 95 Question Id : 92090614472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements ;

Statement 1 :  Cell cycle 1s the sequence of events by which a cell divides into two
daughter cells and duplicate its genomic content.

Statement 11 : It 1is controlled by cyeclin synthesis and degradation,
phosphorylation of cyclim-dependent kinases and binding of CDK
inhibitor proteins.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement 11 are correct

(2) Both Statement I and Statement 11 are incorrect

(3) Statement I is correct but Statement 11 is incorrect

(4) Statement I is incorrect but Statement I is correct
Options :

92090657177. 1
92090657178. 2
92090657179. 3
92090657180. 4

Question Number : 95 Question Id : 92090614472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090657177. 1
92090657178. 2
92090657179. 3
92090657180. 4

Question Number : 96 Question Id : 92090614473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : Type [ Diabetes is known as Insulin-dependent diabetes which is

an autoimmune disorder.

Statement I : Type II Diabetes 15 also an Insulin-dependent diabetes which

arises due to failure of cells to respond to Insulin

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement [ and Statement I are correct

(2) Both Statement [ and Statement Il are incorrect

(3) Statement 1 is correct but Statement 1l is incorrect

(4) Statement [ is incorrect but Statement 1 is correct
Options :

92090657181. 1
92090657182. 2
92090657183. 3



92090657184. 4

Question Number : 96 Question Id : 92090614473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090657181. 1
92090657182. 2
92090657183. 3
92090657184. 4

Question Number : 97 Question Id : 92090614474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Breakdown steps/procedures for Glucose formation in Liver

(A) In Liver, reserve food material Glycogen is converted into Glucose.
(B)  Glucose is released into blood.

(C) Pancreas convert proteins and fats into glucose

(D)  Due to hepatectomy, blood sugar increase rapidly

(E)  Glycogen is the main source of blood sugar

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only
(2) (B), (C) and (D) only
(3) (A), (D) and (E) only
(4) (A), (B) and (E) only

Options :

92090657185. 1

92090657186. 2

92090657187. 3
92090657188. 4

Question Number : 97 Question Id : 92090614474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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E SR Yo & §81 Wid 7@ o ¢ |
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(1) ad A B3IRC
(2) ad B, C3RD
(3) ad A D3RE
(4) Had A BIARE
Options :

92090657185. 1
92090657186. 2



92090657187. 3
92090657188. 4

Question Number : 98 Question Id : 92090614475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statement about allosteric enzymes are correct?

(A) They are a class of regulatory enzymes.

(B) They function through reversible, non-convalent binding of modulators
(C)  Most allosteric enzymes are oligomeric

(D) They don't obey Michaelis-Menten Kinetics

Choose the correct answer from the options given below :

(1) (B, (C) & (D) only

(2)  (A) & (D) only

(3)  (A), (C) & (D) only

(4)  (A), (B), (C) & (D) only

Options :

92090657189. 1
92090657190. 2
92090657191. 3
92090657192. 4

Question Number : 98 Question Id : 92090614475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) &ad B,C3MRD
(2) &ad A3RD
(3) ®ad A C3RD
4) ABC3RD

Options :

92090657189. 1
92090657190. 2
92090657191. 3
92090657192. 4

Question Number : 99 Question Id : 92090614476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List 11 :

List I List IT
(A) Sucrose (I Glucose + Glucose (B1—4)
(B) Maltose (II) Glucose + Fructose
(C) Cellobiose (IIT) Glucose + Glucose { al—4)
(D) Lactose (IV) Glucose + Galactosze

Choose the correct answer from the options given below :

(1) (A)-D, (B)-(III), (C)-(D), (D)-(IV)
(2)  (A)-(ID), (B)-(ID), (C)-(D), (D)-(IV)
@ (Q)-AV). (B)-1I), (C)-(I11), (D)-(D)
(4)  (A)-(D, (B)-(ID). (C)-(IV), (D)-(D

Options :

92090657193 1

92090657194. 2

92090657195. 3



92090657196. 4

Question Number : 99 Question Id : 92090614476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! | & |y g1 B e Sy

- gt -l
(A) i () TR + TR (B1 — 4)
(8) I () TP +Thaeld
€ JSdEEW () TIBTA + BT (] — 4)
(D) dac (Iv) TIDHM + e
A fdu Ty fawedl # @ |el a &1 99 Hifog:
(1 (A)-(I), (B)-(III), (C)-(1), (D)-(IV)
2 (A)-(II), (B)-(II), (C)-(1), (D)-(IV)
(30 (A)-(IV), (B)-(I), (C)-(N1), (D)-(1)
(4)  (A)-(l), (B)-(), (C)-(IV), (D)-(1)
Options :

92090657193. 1
92090657194. 2
92090657195. 3
92090657196. 4

Question Number : 100 Question Id : 92090614477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List 1T :

List [ List II
(A) Xylem (I)  Vascular tissue of root/stem
(B) Trichomes (II) Epidermal cells in stem as outgrowth
(C) Phloem (III) Transports water and minerals upwards
from roots to the shoots
(D) Stele (IV) Transports sugars, byproducts from leaves
to roots.

Choose the correct answer from the options given below :

(1) (A)-aD, (B)-(), (C)-(D), (D)-(IV)
(2) (A1), (B)-(II), (C)-(IV), (D)-(I)
(3)  (A)-aV), (B)-(D), (C)-(ID), (D)-(IT)
(4) (AL, (B)-D), (C)-(11), (D)-(IV)

Options :

92090657197. 1
92090657198. 2
92090657199. 3
92090657200. 4

Question Number : 100 Question Id : 92090614477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(D) (&) I (V) b SR IUIAE] B U o8 Bl SR
RHAFIRT S B |

e fau U fawedl & ¥ Ogl 3u &1 994 Bife:

(1) (A)-(11), (B)-(l1), (C)-(I), (D)-(IV)
(2) (A)-(1), (B)-(11), (C)-(Iv), (D)-(1)
(3) (A)-(IV), (B)-(1), (©)-(1), (D)-(1)
(4) (A)-(11), (B)-(1), (C)-(I), (D)-(IV)
Options :

92090657197. 1

92090657198. 2

92090657199. 3
92090657200. 4



